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Ve IR R T 3.00 2. 10 0. 00 0.25 91.0 0.0 89. 180. 0|7 2 7 7 /L NEHEE |)isis
0.0 0 0 3. 00 0. 00 0.25
Ve R HE T 3.25 2. 00 0. 00 0.95 100. 0 0.0 0. 100. 0|7 2 7 7 L s
0.2 0 100 3.25 1. 80 0.95
Ve R R T 3.25 1. 50 0. 00 0.75 200. 0 0.0 0. 200. 0|7 2 7 7 /L &k
0.2 100 98 3.25 0. 00 1. 50
Ve R T 3.25 2. 00 0. 00 0.75 200. 0 0.0 0. 200. 0|7 A 7 7 /L b ik
0.4 98 97 3.25 0. 00 0.75
Ve R 3.25 1. 50 0. 00 0.75 190. 0 0.0 0. 190. 0|7 27 7 )L bl
0.6 97 0 3.25 1.55 0.25
Ve R 3.25 1. 30 0. 00 0.75 110. 0 0.0 0. 110. 0|7 2 7 7 /L bl
0.9 0 110 3.25 2. 00 0. 50
Ve R T 3.25 1.55 0. 00 0.75 89.0 0.0 0. 89. 0|7 A 7 7 /L bk
0.9 110 99 3.25 2.20 0.75
Ve R HE T 3.25 1.50 0. 00 1.25 100. 0 0.0 0. 100. 0| 7 2 7 7 /L b &lidk
1.0 99 1 3.25 2. 50 1. 00
Ve WA R HE T 3.25 0. 00 0. 00 1.25 100. 0 0.0 0. 100. 0| 7 2 7 7 /b bt
1.2 1 101 3.25 0. 00 1. 00
Ve L R T 3.25 0. 00 0. 00 1. 00 200. 0 0.0 0. 200. 0|7 2 7 7 /b ik
1.2 101 85 3.25 0. 00 1. 00
P78 R R T 3.25 0. 00 0. 00 0.25 400. 0 0.0 0. 400. 0|7 2 7 7 /b ik
1.4 85 100 3.25 0. 00 0. 50
Ve R R T 3.25 0. 00 0. 00 1.25 105. 0 0.0 0. 105. 0|7 2 7 7 )L it
1.7 100 207 3.25 0. 00 1.25
Ve R T 3.25 1. 90 0. 00 0.75 210. 0 0.0 0. 210. 0|7 A 7 7 /L bk
1.7 207 1 3.25 2. 40 0.75
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Ve L R T 3.25 1. 50 0. 00 0.75 330.0 0.0 0.0 330. 0|7 A2 7 7 /b ik
2.1 1 ~ 2.3 31 3.25 1. 90 1. 00
Ve R HE T 3.25 1. 40 0. 00 0.75 40. 0 0.0 0.0 40. 0|7 27 7 L s
2.3 31 ~ 2.3 71 3.25 1. 50 0.75
Ve R T 3.25 1. 50 0. 00 0.75 0.0 0.0 30. 0 30. 0| 7 A 7 7 /L MEEAE |AREES
2.3 71 ~ 2.4 2 3.25 1. 50 0.75
Ve R T 3.25 1. 50 0. 00 0.75 1.2 0.0 65.8 67.0|7 A7 7 /L NaHEE [ILAmESE
2.4 0 ~ 2.4 67 3.25 1. 50 0.75
Ve R 3.25 1. 40 0. 00 0.75 335.0 0.0 0.0 335.0(7 &2 7 7 /L %k
2.4 67 ~ 2.7 3 3.25 1. 50 0.75
Vg R 3.25 0. 00 0. 00 0.25 200. 0 0.0 0.0 200. 0|7 &2 7 7 /L b ik
2.7 3 ~ 2.8 81 3.25 2.50 0.75
Ve R T 3.25 0. 00 0. 00 0.25 200. 0 0.0 0.0 200. 0|7 &2 7 7 /L ik
2.8 81 ~ 3.0 8l 3.25 2. 70 0.75
Ve R HE T 3.25 0. 00 0. 00 0.75 200. 0 0.0 0.0 200. 0|7 A 7 7 /L k&
3.0 81 ~ 3.2 74 3.25 2. 30 0.75
Ve AR HE T 3.25 0. 00 0. 00 1.50 200. 0 0.0 0.0 200. 0|7 A 7 7 )L kil
3.2 74 ~ 3.4 80 3.25 2. 30 0.75
Ve L R T 3.25 0. 00 0. 00 1. 00 200. 0 0.0 0.0 200. 0|7 2 7 7 /b b ik
3.4 80 ~ 3.6 87 3.25 2. 30 0.75
Ve R HE T 3.25 0. 00 0. 00 1. 50 200. 0 0.0 0.0 200. 0|7 2 7 7 /L sk
3.6 87 ~ 3.8 93 3.25 2. 30 0.75
Ve R R T 3.25 0. 00 0. 00 0.75 200. 0 0.0 0.0 200. 0|7 & 7 7 /L &k
3.8 93 ~ 4.0 92 3.25 2. 00 0.75
Ve R T 3.25 0. 00 0. 00 0.75 100. 0 0.0 0.0 100. 0|7 A7 7 )L bl
4.0 92 ~ 4.1 91 3.25 2. 00 0.75
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Ve L R T 3.25 0. 00 0. 00 1.75 100. 0 0.0 0.0 100. 0|7 2 7 7 L | édidE
4.1 9] ~ 4.2 89 3.25 3.50 0.25

Ve R HE T 3.25 0. 00 0. 00 0.75 100. 0 0.0 0.0 100. 0|7 2 7 7 L s
4.2 89 ~ 4.2 189 3.25 0. 00 1. 50

Ve R T 3.25 0. 00 0. 00 0.75 100. 0 0.0 0.0 100. 0|7 2 7 7 )L |t
4.2 189 ~ 4.4 92 3.25 1. 40 0. 50

Ve R T 3.25 0. 00 0. 00 0.75 200. 0 0.0 0.0 200. 0|7 A 7 7 /L bk
4.4 92 ~ 4.6 73 3.25 2. 00 0.75

Ve R 3.25 0. 00 0. 00 0. 50 210. 0 0.0 0.0 210. 0|7 A2 7 7 /L b ik
4.6 73 ~ 4.8 80 3.25 2.15 0.75

Ve R 3.25 0. 00 0. 00 0. 50 215.0 0.0 0.0 215. 0|7 &2 7 7 /L b ik
4.8 80 ~ 5.0 93 3.25 1.90 0.75

Ve R T 3.25 0. 00 0. 00 0. 50 200. 0 0.0 0.0 200. 0|7 &2 7 7 /L ik
5.0 93 ~ 5.2 93 3.25 2. 00 0.75

Ve R HE T 3.25 0. 00 0. 00 0. 50 215.0 0.0 0.0 215.0|7 A 7 7 )L &k
5.2 93 ~ 5.5 5 3. 50 2. 00 0.75

Ve VAR HE T 3.25 0. 00 0. 00 0.75 100. 0 0.0 0.0 100. 0| 7 2 7 7 /b bk
5.5 5 ~ 5.5 105 3.25 0. 00 1. 50

Ve LR T 3.25 0. 00 0. 00 0.75 100. 0 0.0 0.0 100. 0|7 2 7 7 L R édide
5.5 105 ~ 5.6 77 3.25 1. 80 0.75

Ve AR HE T 3.25 0. 00 0. 00 0.25 215.0 0.0 0.0 215.0| 7 2 7 7 /L ik
5.6 77 ~ 5.8 93 3.25 2. 00 0.75

Ve R R T 3.25 0. 00 0. 00 0.75 125. 0 0.0 0.0 125.0|7 2 7 7 )L &t
5.8 93 ~ 6.0 11 3.25 2. 00 0.75

Ve R T 3.25 0. 00 0. 00 0.75 100. 0 0.0 0.0 100. 0|7 A7 7 )L bl
6.0 11 ~ 6.1 21 3.25 2. 00 0.75
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Ve L R T 3.25 2. 00 0. 00 1.25 100. 0 0.0 0.0 100. 0|7 2 7 7 L | édidE
6.1 21 ~ 6.2 33 3.25 2. 00 1.25
Ve R HE T 3.25 0. 00 0. 00 1. 50 86. 0 0.0 0.0 86.0|7 27 7 /L it
6.2 33 ~ 6.3 28 3.25 2. 00 1.25
Ve R T 3.25 0. 00 0. 00 1.25 0.0 0.0 114.0 114. 0|7 A 7 7 )b b &3 | atehs
6.3 28 ~ 6.4 48 3.25 1.95 0.75
Ve R T 3.25 0. 00 0. 00 1.25 5.8 0.0 63. 2 69.0|7 A7 7L HEREE | At
6.4 48 ~ 6.5 26 3.25 2. 00 0.75
Ve R 3.25 0. 00 0. 00 1.25 151. 0 0.0 0.0 151. 0|7 A7 7 )L bl
6.5 26 ~ 6.6 82 3.25 2. 00 1.25
Ve R 3.25 2. 00 0. 00 1.25 68.0 0.0 0.0 68. 0|7 A 7 7 /L b &Lk
6.6 82 ~ 6.7 62 3.25 2. 00 1.25
Ve R T 3.25 2. 00 0. 00 1. 00 201. 0 0.0 0.0 201. 0|7 &2 7 7 /L ik
6.7 62 ~ 6.9 81 6. 50 2. 60 1. 00
Ve R HE T 3.25 2. 00 0. 00 1.75 100. 0 0.0 0.0 100. 0| 7 2 7 7 /L b &lidk
6.9 81 ~ 7.0 81 3.25 0. 00 0.75
Ve AR HE T 3.25 2. 00 0. 00 1.25 100. 0 0.0 0.0 100. 0| 7 2 7 7 /b bk
7.0 81 ~ 7.1 81 3.25 0. 00 1.25
Ve I R T 3.25 2. 00 0. 00 1.25 100. 0 0.0 0.0 100. 0|7 2 7 7 L | édide
7.1 81 ~ 7.2 8l 3.25 0. 00 1.25
Ve R HE T 3.25 2.50 0. 00 1.25 100. 0 0.0 0.0 100. 0|7 2 7 7 )L s
7.2 81 ~ 7.3 82 3.25 0. 00 1.25
Ve R R T 3.25 2. 30 0. 00 1.25 100. 0 0.0 0.0 100. 0|7 2 7 7 )L it
7.3 82 ~ 7.5 7 3.25 0. 00 1.25
Ve R T 3.25 1. 90 0. 00 1.25 91.0 0.0 0.0 91.0| 7 A7 7 /L bk
7.5 7 ~ 7.6 1 3.25 0. 00 1. 35
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Ve L R T 6. 50 2.50 0. 00 1. 00 91.0 0.0 0.0 91.0| 7 A2 7 7 L i
7.6 1 ~ 7.6 92 3.25 0. 00 2.50
Ve R HE T 3.25 2. 00 0. 00 1.25 100. 0 0.0 0.0 100. 0|7 2 7 7 L s
7.6 92 ~ 7.7 87 3.25 3. 00 1.25
Ve R T 3.50 2. 00 0. 00 1.25 100. 0 0.0 0.0 100. 0|7 2 7 7 )L |t
7.7 87 ~ 7.8 88 3.25 3. 00 1.25
Ve R T 3.25 2. 00 0. 00 1.25 100. 0 0.0 0.0 100. 0|7 A7 7 )L bl
7.8 88 ~ 7.9 88 3.25 3. 00 1.25
Ve R 3.25 0. 00 0. 00 1.25 257.0 0.0 50. 0 307. 0|7 A7 7 /L MEHEE [wiats
7.9 88 ~ 8.2 25 3.25 3. 00 1.25
Ve R 3.25 0. 00 0. 00 1.25 125. 0 0.0 0.0 125.0|7 27 7 )L bl
8.2 25~ 8.3 50 3.25 0. 00 1.25
Ve R T 3.25 0. 00 0. 00 1.25 240. 0 0.0 0.0 240. 0| 7 &2 7 7 /L ik
8.3 50 ~ 8.4 88 3.25 0. 00 1.25
Ve R HE T 3.25 2. 00 0. 00 1.25 100. 0 0.0 0.0 100. 0| 7 2 7 7 /L b &lidk
8.4 88 ~ 8.5 88 3.25 0. 00 1.25
Ve AR HE T 3.25 2. 00 0. 00 1.20 105. 0 0.0 0.0 105. 0|7 2 7 7 /v bk
8.5 88 ~ 8.6 93 3.25 0. 00 1.25
Ve LR T 3.25 2. 00 0. 00 1.25 90. 0 0.0 0.0 90. 0|7 A2 7 7 L ik
8.6 93 ~ 8.7 81 3.25 0. 00 1.25
Ve AR HE T 3.25 2. 00 0. 00 1.25 141. 4 0.0 58. 6 200. 0|7 A 7 7 )L NS RiLEsE
8.7 81 ~ 8.9 77 3.25 0. 00 1.25
Ve R R T 3.25 2. 00 0. 00 1.25 27.0 0.0 0.0 27.0| 7 27 7 )L ik
8.9 77 ~ 9.0 4 3.25 0. 00 1.25
Ve R T 3.25 1. 10 0. 00 0.25 178.7 0.0 4.3 183.0|7 A7 7 /L MEFEE | 7/ 5iG
9.0 4 ~ 9.1 87 3.25 0. 00 0.25
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Ve L R T 3.25 0. 00 0. 00 1. 00 100. 0 0.0 0.0 100. 0|7 2 7 7 L | édidE
0.0 0 0.1 0 3.25 0. 00 1. 00

Ve R HE T 3.25 0. 00 0. 00 1. 00 100. 0 0.0 0.0 100. 0|7 2 7 7 L s
0.1 0 0.2 0 3.25 0. 00 1. 00

Ve R T 3.25 0. 00 0. 00 1. 00 85.0 0.0 0.0 85.0|7 2 7 7 )L ki
0.2 0 0.2 85 3.25 0. 00 1. 00

Ve R T 3.90 0. 00 0. 00 0. 00 0.0 0.0 20. 6 20. 6|7 A7 7L b ALk
0.2 8 0.3 6 4. 00 0. 00 0. 00

Ve R 3.50 0. 00 0. 00 1. 00 93. 4 0.0 0.0 93. 4|7 A7 7L bk
0.3 6 0.4 0 3. 50 0. 00 1. 00

Ve R 3.50 0. 00 0. 00 1. 00 100. 0 0.0 0.0 100. 0|7 2 7 7 /L b Eifidt
0.4 0 0.5 0 3. 50 0. 00 1. 00

Ve R T 3.50 0. 00 0. 00 1. 50 100. 0 0.0 0.0 100. 0|7 2 7 7 )L bl
0.5 0 0.6 0 3. 50 0. 00 1. 50

Ve R HE T 3.50 0. 00 4. 00 1.50 100. 0 0.0 0.0 100. 0| 7 2 7 7 /L b &lidk
0.6 0 0.7 0 3. 50 0. 00 1. 50

Ve AR HE T 3.50 0. 00 4. 00 1.00 60. 0 0.0 0.0 60. 0|7 A7 7 )L bl
0.7 0 0.7 60 3. 50 0. 00 1. 50

Ve IR R T 3.50 0. 00 6. 00 1. 50 47.0 0.0 0.0 A4T.0| 7 A2 7 7 v s
0.7 60 0.8 17 3. 50 0. 00 1. 50

Ve AR HE T 3.50 0. 00 7.00 1. 50 17.0 0.0 0.0 17.0| 7 27 7 /v ik
1.0 86 11.1 0 3. 50 0. 00 1. 50

=4 RE ] 3.50 0. 00 7.00 1. 50 100. 0 0.0 0.0 100. 0|7 2 7 7 )L it
11.1 0 11.2 0 3. 50 0. 00 1. 50

Ve R T 3.50 0. 00 1. 50 1. 50 100. 0 0.0 0.0 100. 0|7 A7 7 )L bl
11.2 0 11.3 0 3. 50 0. 00 1. 50
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Ve L R T 3.50 0. 00 0. 00 1. 50 100. 0 0.0 0. 100. 0|7 2 7 7 L | édidE
11.3 0 11. 0 3. 50 0. 00 1. 50
Ve R HE T 3.50 0. 00 0. 00 1. 50 100. 0 0.0 0. 100. 0|7 2 7 7 L s
11. 4 0 11. 0 3. 50 0. 00 1. 50
=4 RE ] 3.50 0. 00 0. 00 1. 50 100. 0 0.0 0. 100. 0|7 2 7 7 )L it
11.5 0 11. 0 3. 50 0. 00 1. 50
Ve R T 3.50 0. 00 0. 00 1. 50 100. 0 0.0 0. 100. 0|7 A7 7 )L bl
11.6 0 11. 0 3. 50 0. 00 1. 50
Ve R 3.50 0. 00 0. 00 1. 50 100. 0 0.0 0. 100. 0|7 A 7 7 )L bl
11.7 0 11. 0 3. 50 0. 00 1. 50
Vg R 3.50 0. 00 0. 00 1. 50 100. 0 0.0 0. 100. 0|7 2 7 7 /L b Eifidk
11.8 0 11. 0 3. 50 0. 00 1. 50
Ve R T 3.50 0. 00 0. 00 1. 50 73.0 0.0 0. 73.0(7 2 7 7 /L bk
11.9 0 11. 73 3. 50 0. 00 1. 50
Ve R HE T 3.50 0. 00 0. 00 1.00 0.0 0.0 90. 90. 07 2 7 7 /b MeiAE liats
11.9 73 12. 61 3. 50 0. 00 1. 00
Ve VAR HE T 3.50 0. 00 0. 00 1.50 37.0 0.0 0. 37.0| 7 A7 7 /L bk
12.0 61 12. 0 3. 50 0. 00 1. 50
Ve R R T 3.50 0. 00 0. 00 1. 50 100. 0 0.0 0. 100. 0|7 2 7 7 v R adidE
12. 1 0 12. 0 3. 50 0. 00 1. 50
P8 R R T 3. 50 0. 00 0. 00 1. 50 47.0 0.0 0. AT.0| 7 A7 7 v it
12. 2 0 12. 47 3. 50 0. 00 1. 50
Ve R R T 3.50 0. 00 0. 00 1. 00 0.0 0.0 48. 48. 9|7 A 7 7 )L MEREE [hoAE
12.2 47 12. 94 3. 50 0. 00 1. 00
Ve R T 3.50 0. 00 0. 00 1. 50 4.1 0.0 0. 4. 1|7 A7 7 v %
12.2 94 12. 0 3. 50 0. 00 1. 50
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Ve L R T 3.50 0. 00 0. 00 1. 50 100. 0 0.0 0. 100. 0|7 2 7 7 L | édidE
12.3 0 12. 0 3. 50 0. 00 1. 50

Ve R HE T 3.50 0. 00 0. 00 1. 50 100. 0 0.0 0. 100. 0|7 2 7 7 L s
12. 4 0 12. 0 3. 50 0. 00 1. 50

=4 RE ] 3.50 0. 00 0. 00 1. 50 100. 0 0.0 0. 100. 0|7 2 7 7 )L it
12.5 0 12. 0 3. 50 0. 00 1. 50

Ve R T 3.50 0. 00 0. 00 1. 50 35.0 0.0 0. 35.0[7 A7 7 /L b A%k
12.6 0 12. 35 3. 50 0. 00 1. 50

Ve R 3.50 0. 00 0. 00 1.25 0.0 0.0 87. 87.0|7 A7 7 /L MaHLE [rm s
12.6 35 12. 22 3. 50 0. 00 1.25

Vg R 3.25 0. 00 0. 00 1. 50 0.0 0.0 62. 62. 0|7 A7 7L Nl BB 1Y 50 TR
12.6 70 12. 32 0. 00 0. 00 0.75

Ve R T 0. 00 0. 00 0. 00 0. 50 0.0 0.0 81. 81.0[7 A7 7/ MEHZE 4R T I 716
12. 6 32 12. 13 3.25 0. 00 1. 25

Ve R HE T 3.50 0. 00 0. 00 1.25 78.0 0.0 0. 78.0| 7 A7 7L b A%k
12.7 22 12. 0 3. 50 0. 00 1.25

Ve AR HE T 3.50 0. 00 0. 00 1.25 17.0 0.0 0. 17.0|7 A7 7 /v b &%k
12. 8 0 12. 17 3. 50 0. 00 1.25

Ve L R T 3.50 0. 00 0. 00 0. 50 0.0 0.0 188. 188.0|7 A7 7 )L MEREE | iEsets
12. 8 17 13. 5 3. 50 0. 00 1. 00

Ve AR HE T 3.25 0. 00 0. 00 2.25 95. 3 0.0 0. 95. 3|k ME&
13.0 5 ~ 13. 0 3.25 0. 00 2.25

Ve R R T 3. 50 0. 00 0. 00 1.75 100. 0 0.0 0. 100. O sk Pk
13.1 0 ~ 13. 0 3. 50 0. 00 1.75

Ve R R HE T 3.50 0. 00 0. 00 1.75 4.5 0.0 0. 4. 5| HEKPE A %S
13.2 0 ~ 13. 5 3. 50 0. 00 1. 50
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Ve L R T 3.50 0. 00 0. 00 1.75 0.0 0.0 132. 2 132, 2|HEAK Mk I SN
13.2 5 ~ 13.3 36 3. 50 0. 00 1. 00

Ve R HE T 3.50 0. 00 0. 00 1. 00 64. 0 0.0 0.0 64. 0| Pk P2
13.3 36 ~ 13. 4 0 3. 50 0. 00 1. 00

Ve IR R T 3. 50 0. 00 0. 00 1. 00 11.5 0.0 0.0 11. 5| HEAk i A%
13. 4 0 ~ 13. 4 12 3. 50 0. 00 1. 00

Ve R T 3. 50 0.00 0. 00 1. 00 0.0 0.0 106. 0 106. 0| HE7k P2 REIPN 7
13. 4 12 ~ 13.5 18 3. 50 0. 00 1. 00

Ve R 3.50 0. 00 0. 00 1. 00 44.0 0.0 0.0 44. O HEAK P Al 2
13.5 18 ~ 13.5 62 3. 50 0. 00 1. 00

Ve R 3.50 1. 00 0. 00 0. 60 0.0 38.0 0.0 38.0| 7 A7 7L MM MR F R
13.5 62 ~ 13.6 0 3. 50 1. 00 0. 60

Ve R T 3.50 1.00 0. 00 0. 60 0.0 82.0 0.0 82.0|7 A7 7 /L Nl | r o
13.6 0 ~ 13.6 82 3. 50 1. 00 0. 60

Ve R HE T 3.50 0. 00 0. 00 0. 60 25.0 0.0 0.0 25. 0| Pk P2k
13.6 82 ~ 13.7 7 3. 50 0. 00 0. 60

Ve B R HE T 3. 50 1.00 0. 00 1.00 0.0 93.0 0.0 93.0|7 A7 7 )b NEREE Bk b2
13.7 7 ~ 13.8 0 3. 50 1. 00 1. 00

Ve L R T 3.50 1. 00 0. 00 0. 60 0.0 100. 0 0.0 100. 0|7 A7 7 )L MEfSE 1A r o
13. 8 0 ~ 13.9 0 3. 50 1. 00 0. 60

Ve AR HE T 3.50 1.00 0. 00 0. 60 0.0 100. 0 0.0 100. 0| 7 A7 7 /b NS |2k b s
13.9 0 ~ 14. 0 0 3. 50 1. 00 0. 60

Ve IR R T 3.50 1. 00 0. 00 0. 60 0.0 42.0 0.0 42. 0|7 A7 7 )b NEREE |8k R
14. 0 0 ~ 14.0 42 3. 50 1. 00 0. 60

Ve R T 3.50 0. 00 0. 00 1. 50 18.0 0.0 0.0 18. O|HEAK A%
14.0 42 ~ 14.0 60 3. 50 0. 00 2. 00
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Ve L R T 3.50 0. 00 0. 00 2.90 0.0 0.0 20. 0 20. O|HEA P il BRI
14.0 60 ~ 14.0 80 3. 50 0. 00 2.90

Ve R HE T 3.50 0. 00 0. 00 2.50 14. 0 0.0 0.0 14. O|BEAK A %
14.0 80 ~ 14.0 94 3. 50 0. 00 2.90

Ve R T 3.50 1.00 0. 00 0. 60 0.0 106. 0 0.0 106. 0| 7 A 7 7 /b ML | b oo
14.0 94 ~ 14. 2 0 3. 50 1. 00 0. 60

Ve R T 3.50 1. 00 0. 00 0. 60 0.0 100.0 0.0 100. 0|7 A 7 7 /L N&HEE il o 3oL
14. 2 0 ~ 14. 3 0 3. 50 1. 00 0. 60

Ve R 3.50 1. 00 0. 00 0. 60 0.0 70.0 0.0 70.0| 7 A7 7L NAH%E miE bk
14. 3 0 ~ 14. 3 70 3. 50 1. 00 0. 60

Ve R 3.50 0. 00 0. 00 0. 60 30.0 0.0 0.0 30. O[BEA &S
14. 3 70 ~ 14. 4 0 3. 50 0. 00 0. 60

Ve R T 3.50 0.00 0. 00 1.75 100. 0 0.0 0.0 100. O HEAPE&fLE
14. 4 0 ~ 14.5 0 3. 50 0. 00 1. 50

Ve R HE T 3.50 0. 00 0. 00 1.50 100. 0 0.0 0.0 100. O|HE/KMEAf%E
14.5 0 ~ 14. 6 0 3. 50 0. 00 1. 50

Ve AR HE T 3.50 0. 00 0. 00 1.75 100. 0 0.0 0.0 100. O HErk Pk
14. 6 0 ~ 14. 7 0 3. 50 0. 00 1. 50

Ve IR R T 3.50 0. 00 0. 00 1.75 43.0 0.0 0.0 43, O HEA P il
14. 7 0 ~ 14.7 43 3. 50 0. 00 1.75

Ve AR HE T 3.25 0. 00 0. 00 2.75 0.0 0.0 24.0 24. 0| Pk M2 T 2 1
14.7 24 ~ 14.7 48 0. 00 0. 00 0. 00

=4 RE ] 3.50 0. 00 0. 00 1.75 0.0 0.0 62.5 62.5(7 A7 7 v MM )6
14.7 43 ~ 14. 8 5 3. 50 0. 00 1.75

Ve R T 0. 00 0. 00 0. 00 0. 00 0.0 0.0 17.0 17.0|7 A7 7 /b b EHEE [in 1 246
14. 7 71 ~ 14.7 88 3.25 0. 00 2.75
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g = E R
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HOGE | A GE | oBER | B OF | B OB | hrxa i U it B

Ve L R T 3.50 0. 00 0. 00 1.75 295.0 0.0 0.0 295. O|HEA I A4
14. 8 5 ~ 15. 1 0 3. 50 0. 00 1.75

Ve R HE T 3.50 0. 00 0. 00 4. 95 100. 0 0.0 0.0 100. 0|7 2 7 7 L s
15. 1 0 ~ 15. 2 0 3. 50 3. 00 3. 50

Ve R T 3.50 0. 00 0. 00 1. 29 22.0 0.0 0.0 22.0| 7 27 7L s
15. 2 0 ~ 15. 2 22 3. 50 2.50 1. 29

Ve R T 3.50 1. 50 0. 00 0. 50 5.0 78.0 0.0 83.0|7 A7 7 )L NEREE |k ko xn
15.2 22 ~ 15. 3 0 3. 50 2.50 0. 50

Ve R 3. 50 1. 50 0. 00 0. 50 0.0 100. 0 0.0 100. 0| = > 27 U — NEHEE |k b oo
15. 3 0 ~ 15. 4 0 3. 50 2.50 0. 50

Ve R 3.50 1. 50 0. 00 0. 50 0.0 96. 0 0.0 96. 0|z > 27 U — NEHEE |k bz
15. 4 0 ~ 15.4 96 3. 50 2.50 0. 50

Ve R T 3.50 1.50 0. 00 0. 50 0.0 226.0 0.0 226. 0|7 A7 7 L EHEE ok b odor
15.4 96 ~ 15.7 22 3. 50 2. 50 0. 50

Ve R HE T 3.50 1.50 0. 00 0. 50 0.0 8.0 0.0 8.0[= 7 U — MEHEE [k ko
15.7 22 ~ 15.7 30 3. 50 2. 50 0. 50

Ve R R HE T 3.50 1.50 0. 00 0.50 0.0 94.0 0.0 94. 0|7 A7 7 )b NEREE |wek bt
15. 7 30 ~ 15.8 24 3. 50 2.50 0.50

Ve IR R T 3.50 0. 00 0. 00 2.82 81.0 0.0 0.0 81.0|7 A7 7 /L it
15.8 24 ~ 15. 9 0 3. 50 2. 50 1. 60

Ve AR HE T 3.50 0. 00 0. 00 0. 50 60. 0 0.0 0.0 60.0|7 27 7 L s
15.9 0 ~ 15.9 60 3. 50 2. 50 0. 50

=4 RE ] 3.50 0. 00 0. 00 1.57 8.0 0.0 0.0 8.0[7 A7 7 /b k%
15.9 60 ~ 15.9 68 3. 50 2.50 1. 08

Ve R T 3.50 0. 00 0. 00 1.57 0.0 0.0 32.0 32.0| 7 A7 7 /b MEEAE |emuts
15.9 68 ~ 16. 0 0 3. 50 2.50 1. 08

11 /25 R—




|

A
=
R
=
T

AR 0 0203 BB

g = E R
X ] (BBt B0, BT DD m m I T D TS T
HOGE | A GE | oBER | B OF | B OB | hrxa i i B

Ve L R T 3.50 0. 00 0. 00 1.57 0.0 0.0 92.0 92. 0|7 2 7 7 /L MEHLE |t
16. 0 0 ~ 16.0 92 3. 50 2.50 1. 08

Ve R HE T 3.50 0. 00 0. 00 1.26 8.0 0.0 0.0 8.0[7 27 7 /v [tk
16.0 92 ~ 16. 1 0 3. 50 2. 50 0. 50

Ve R R T 3.50 0. 00 0. 00 3.58 43.0 0.0 0.0 43.0|7 2 7 7L s
16. 1 0 ~ 16. 1 43 3. 50 2.50 1. 40

Ve R T 3.50 0. 00 0. 00 5.90 57.0 0.0 0.0 57.0(7 A7 7 /L bk
16. 1 43 ~ 16. 2 0 3. 50 2.50 4.15

Ve R 3.50 0. 00 0. 00 3.00 100. 0 0.0 0.0 100. 0|7 A 7 7 )L bl
16. 2 0 16. 3 0 3. 50 2.50 3. 00

Ve R 3.50 0. 00 0. 00 3.00 100. 0 0.0 0.0 100. 0|7 2 7 7 /L b Eifidt
16. 3 0 16. 4 0 3. 50 2.50 3. 00

Ve R T 3.50 0. 00 0. 00 3.50 71. 0 0.0 0.0 71.0[7 27 7 /b bk
16. 3 0 16. 4 71 3. 50 2. 50 3. 50

Ve R HE T 3.25 1.00 0. 00 0.75 47.0 0.0 0.0 47.0|7 A7 7 )L b EfdE
15.4 33 ~ 15.4 80 3.25 0. 00 1. 00

Ve AR HE T 6. 50 1.50 0. 00 0.75 100. 0 0.0 0.0 100. 0| 7 2 7 7 /b bk
15.4 80 ~ 15.5 77 3.25 0. 00 0.75

Ve IR R T 3.25 1. 50 0. 00 0.75 100. 0 0.0 0.0 100. 0|7 2 7 7 L | édidE
15.5 77 ~ 15. 6 76 3.25 0. 00 0.75

Ve AR HE T 3.25 1. 30 0. 00 1. 00 100. 0 0.0 0.0 100. 0|7 2 7 7 )L s
15. 6 76 ~ 15. 7 76 3.25 0. 00 1. 00

Ve R R T 3.25 2. 00 0. 00 2. 00 100. 0 0.0 0.0 100. 0|7 2 7 7 )L it
15. 7 76 ~ 15. 8 79 3.25 0. 00 2. 00

Ve R T 3.25 1. 60 0. 00 1. 00 100. 0 0.0 0.0 100. 0|7 A7 7 )L bl
15. 8 79 ~ 15.9 81 3.25 0. 00 1. 00
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Ve L R T 3.25 1. 60 0. 00 1. 00 100. 0 0.0 0.0 100. 0|7 2 7 7 L | édidE
15.9 81 ~ 16. 0 78 3.25 0. 00 1. 00

Ve R HE T 3.25 1. 50 0. 00 1. 00 110. 0 0.0 0.0 110. 0|7 2 7 7 )L s
16. 0 78 ~ 16. 1 86 3.25 0. 00 1. 00

Ve R T 3.25 1. 50 0. 00 1. 00 97.0 0.0 3.0 100. 0|7 A 7 7 )L Nl |m
16. 1 86 ~ 16. 2 86 3.25 0. 00 1. 00

Ve R T 3.25 1.45 0. 00 0.75 95.5 0.0 4.5 100. 0|7 A7 7 )L bl
16.2 86 ~ 16.3 85 3.25 0. 00 0.25

Ve R 3.25 0. 00 0. 00 1.25 200. 0 0.0 0.0 200. 0|7 &2 7 7 /L b ik
16.3 85 ~ 16.4 183 3.25 0. 00 1.25

Ve R 3.25 0. 00 0. 00 1. 00 100. 0 0.0 0.0 100. 0|7 2 7 7 /L b Eifidt
16.4 183 ~ 16. 6 72 3.25 0. 00 1.75

(X4 E VNI 3.25 0. 00 0. 00 1. 00 200. 0 0.0 0.0 200. 0|7 &2 7 7 /L ik
16. 6 72 ~ 16. 8 77 3.25 0. 00 1.75

X AT 2N 3.25 0. 00 0. 00 1.50 110. 0 0.0 0.0 110. 0| 7 2 7 7 /v b &k
16. 8 77 ~ 16.9 90 3.25 2. 40 1. 60

AT YN 3.25 0. 00 0. 00 1.00 100. 0 0.0 0.0 100. 0| 7 2 7 7 /b bl
16.9 90 ~ 17.0 90 3.25 2. 40 0.75

AT YN 3.25 0. 00 0. 00 0.75 100. 0 0.0 0.0 100. 0|7 2 7 7 )L | Efide
17.0 90 ~ 17. 1 91 3.25 0. 00 1.55

AT YN 3.25 0. 00 0. 00 1.20 100. 0 0.0 0.0 100. 0| 7 =2 7 7 /v &k
17. 1 9] ~ 17.2 90 3.25 0. 00 0. 85

AT YN 3.25 0. 00 0. 00 1.00 100. 0 0.0 0.0 100. 0| 7 2 7 7 /b &k
17.2 90 ~ 17.3 90 3.25 2.20 0.75

B R Tt 3.25 0. 00 0. 00 0.75 200. 0 0.0 0.0 200. 0|7 A 7 7 /L b ik
17.3 90 ~ 17.4 188 3.25 2. 40 0.75
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HOGE | A GE | oBER | B OF | B OB | hrxa & U it
AT YN 3.25 0. 00 0. 00 1.00 200. 0 0.0 0. 200. 0|7 & 7 7 /b |k
17.4 188 17. 88 3.25 2.20 0.75
AT YN 3.25 0. 00 0. 00 1.00 200. 0 0.0 0. 200. 0|7 & 7 7 L ik
17.7 88 17. 76 3.25 2.15 0. 50
AT YN 3.25 0. 00 0. 00 0.75 200. 0 0.0 0. 200. 0|7 A2 7 7 )L b itk
17.9 76 18. 79 3.25 2.10 0. 50
(X4 VNG 3.25 0. 00 0. 00 0. 70 216. 5 0.0 3. 220. 0| 7 A 7 7 /L ML LR
18. 1 79 18. 4 3.25 2. 00 0. 50
VB RZ A 3.25 0. 00 0. 00 1.25 108.5 0.0 6. 115.0[ 7 2 7 7 /L M&HEE |5~ m5uE
18. 4 4 18. 5 3.25 2. 00 0.25
(XA E VNI 3.25 0. 00 0. 00 1.25 5.0 0.0 0. 5. 0| PRI Al 2
18.5 5 18. 10 3.25 2. 00 0.25
(U4 E VNI 3.25 0.00 0. 00 0.75 241.0 0.0 0. 241. 0| FE/k A%
18.5 10 18. 51 3.25 1. 36 0.75
X AT 2N 3.25 0. 00 0. 00 0.75 39.0 0.0 0. 39.0| 7 A7 7 /L b &%k
18. 7 51 18. 90 3.25 1. 36 0.75
AT YN 3.25 1.50 0. 00 1.25 100. 0 0.0 0. 100. 0| 7 2 7 7 /b bk
18. 7 90 18. 190 3.25 1. 50 1.25
AT YN 3.25 1.50 0. 00 1.75 100. 0 0.0 0. 100. 0|7 2 7 7 )L | fide
18.7 190 18. 89 3.25 1. 50 1.75
AT YN 3.25 1.20 0. 00 1.75 89.5 0.0 5. 95.0[ 7 2 7 7 /v ahdE | mdg
18.9 89 19. 83 3.25 1. 50 1.75
AT YN 3.25 1.20 0. 00 1.75 5.0 0.0 0. 5. O[HEAMES 2
19. 0 83 19. 88 3.25 1. 50 1.75
(=45 VNG 3.25 1. 50 0. 00 1.75 100. 0 0.0 0. 100. O HE7k M2
19. 0 88 19. 77 3.25 1. 40 1.75
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AT YN 3.25 1.60 0. 00 1.75 110. 0 0.0 0.0 110. O Pk Pk
19. 1 77 ~ 19. 2 90 3.25 1. 50 1.75

AT YN 3.25 1.10 0. 00 1.50 190. 0 0.0 10.0 200. O|HEA &2 TG
19. 2 90 ~ 19. 4 77 3.25 1. 40 1. 50

AT VNI 3.25 1.10 0. 00 1. 20 37.0 0.0 0.0 37. OBk e
19. 4 77 ~ 19.5 24 3.25 1. 40 1. 20

(X4 VNG 3.25 1. 10 0. 00 1. 20 63.0 0.0 0.0 63. 0|7 A7 7 /L b &Lk
19.5 24 ~ 19.5 87 3.25 1. 40 1. 20

VB RZ A 3.25 2. 50 0. 00 1.00 100. 0 0.0 0.0 100. 0| 7 A2 7 7 /b &k
19.5 87 ~ 19. 6 88 3.25 2. 80 1. 00

AT VNI 3.25 1.75 0. 00 1. 00 80.0 0.0 0.0 80. 0|7 A 7 7 /L k&t
19. 6 88 ~ 19. 7 61 3.25 1. 00 1. 50

e R Tt 3.25 3.50 0. 00 1. 00 140. 0 0.0 0.0 140. 0|7 2 7 7 )L bl
19. 7 61 ~ 19.8 101 6. 50 2. 50 0. 50

X AT 2N 3.25 2. 00 0. 00 1.75 100. 0 0.0 0.0 100. 0| 7 2 7 7 /L bk
19.8 101 ~ 19.9 92 3.25 1. 50 1.25

AT YN 3.25 1.50 0. 00 1.75 100. 0 0.0 0.0 100. 0| 7 2 7 7 /v bk
19.9 92 ~ 20.0 91 3.25 1. 50 1.75

AT YN 3.25 1.50 0. 00 1.75 100. 0 0.0 0.0 100. 0|7 2 7 7 )L | fide
20.0 9] ~ 20. 1 92 3.25 1. 50 1.75

AT YN 3.25 1.50 0. 00 1.75 100. 0 0.0 0.0 100. 0| 7 =2 7 7 /v &k
20. 1 92 ~ 20. 2 91 3.25 1. 50 1.75

AT YN 3.25 1.50 0. 00 1.75 100. 0 0.0 0.0 100. 0| 7 2 7 7 /b ik
20. 2 9] ~ 20.3 92 3.25 1. 50 1.75

(X4 VNG 3.25 2. 00 0. 00 1.75 100. 0 0.0 0.0 100. 0|7 A7 7 )L bl
20.3 92 ~ 20.4 91 3.25 1. 50 1.75
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HOGE | A GE | oBER | B OF | B OB | hrxa & U it

AT YN 6. 50 3. 00 0. 00 0.25 110. 0 0.0 0. 110. 0|7 2 7 7 )L | Efide
20.4 91 20. 98 6. 50 3.50 0.25

AT YN 4. 50 1.60 0. 00 0. 50 100. 0 0.0 0. 100. 0| 7 2 7 7 /v &k
20.5 98 20. 92 6. 50 2. 50 0.25

AT YN 4. 50 1.60 0. 00 0.25 100. 0 0.0 0. 100. 0| 7 2 7 7 /b Rk
20. 6 92 20. 89 6. 00 2.50 1. 00

(X4 VNG 3.25 1. 50 0. 00 1.25 85.0 0.0 0. 85. 0|7 A7 7 /L bk
20. 7 89 20. 71 3.25 1.25 1.75

VB RZ A 3.25 1.25 0. 00 1.25 29.0 0.0 0. 29. 0|7 A7 7L b &Lk
20.8 71 20. 0 3.25 1. 50 1.75

(XA E VNI 3.25 1.25 0. 00 1.25 84.8 0.0 6. 91. O HErk P2 YNV
20.9 0 20. 83 3.25 1. 50 1.75

(X4 E VNI 3.25 1. 50 0. 00 1. 50 110. 0 0.0 0. 110. O HEAME&LE
20.9 83 21. 93 3.25 1. 50 1.75

X AT 2N 3.25 1. 50 0. 00 1.75 95.0 0.0 0. 95. O|HEAK P il
21.0 93 21. 80 3.25 1. 50 1.75

AT YN 3.25 1.50 0. 00 1.75 5.0 0.0 0. 5.0 7 A7 7 v Mk
21.1 80 21. 85 3.25 1. 50 1.75

AT YN 3.25 1.75 0. 00 1.75 41.0 0.0 0. 41.0|7 A7 7 )b EdE
21.1 85 21. 26 3.25 1.55 1. 80

AT YN 3.25 1.75 0. 00 1.75 79.0 0.0 0. 79. O|HEAK S 2
21.2 26 21. 6 3.25 1. 55 1. 80

AT YN 3.25 1.00 0. 00 1.75 100. 0 0.0 0. 100. OHEAKME&f%E
21.3 6 21. 8 3.25 1. 55 1. 80

(X4 VNG 3.25 0. 00 0. 00 0.50 130. 0 0.0 0. 130. O ek M2
21.4 8 21. 40 3.25 0. 00 0. 50
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HOGE | A GE | oBER | B OF | B OB | hrxa i U it B
AT YN 3.25 0. 00 0. 00 0.75 120. 0 0.0 0.0 120. O Pk Pk
21.5 40 ~ 21.6 61 3.25 0. 00 0.75
AT YN 3.25 0. 00 0. 00 0.75 210.0 0.0 0.0 210. O|HEAC S 2L
21.6 61 ~ 21.8 68 3.25 0. 00 0.75
AT YN 3.25 0. 00 0. 00 0.75 140. 0 0.0 0.0 140. O[HEZKPE&f %S
21.8 68 ~ 21.9 104 3.25 0. 00 1. 00
(X4 VNG 3.25 0.00 0. 00 1. 00 105. 0 0.0 0.0 105. 0| HE7k MEEh 2
21.9 104 ~ 22. 1 10 3.25 1. 40 0.25
VB RZ A 3.25 0. 00 0. 00 1. 50 117.6 0.0 3.4 121. OHEZK PR %L U
22. 1 10 ~ 22.2 12 3.25 2.20 0. 50
(XA E VNI 3.25 0. 00 0. 00 0.50 257.9 0.0 32.1 290. 0|7 A2 7 7 /L Ml |4 )16
22.2 12 ~ 22.4 100 3.25 0. 00 1. 00
(U4 E VNI 3.25 0. 00 0. 00 1. 00 296. 1 0.0 3.9 300. 0|7 2 7 7 v Ma#EE [k T mis
22.4 100 ~ 22.7 97 3.25 0. 00 1. 00
AT 2N 3.25 0. 00 0. 00 0.25 200. 0 0.0 0.0 200. 0|7 A 7 7 )L &k
22.7 97 ~ 22.9 103 3.25 2. 00 0.75
AT YN 3.25 0. 00 0. 00 0.25 200. 0 0.0 0.0 200. 0|7 A 7 7 )L btk
22.9 103 ~ 23. 1 99 3.25 1. 90 0.75
AT YN 3.25 0. 00 0. 00 0. 50 185. 1 0.0 14.9 200. 0|7 A 7 7 /L hEd%E |momis
23. 1 99 ~ 23. 4 0 3.25 1. 80 0.75
AT YN 3.25 0. 00 0. 00 0.75 80. 0 0.0 0.0 80.0(7 =2 7 7 /L ek
23. 4 0 ~ 23.4 80 3.25 1.75 0.75
AT YN 3.25 0. 00 0. 00 0. 50 113.5 0.0 6.5 120. 0| 7 A 7 7 /v MM | B
23.4 80 ~ 23.6 2 3.25 2. 00 0. 50
(=45 VNG 3.25 0. 00 0. 00 0.75 100. 0 0.0 0.0 100. 0|7 A7 7 )L bl
23.6 2 ~ 23.7 1 3.25 0. 00 0. 50
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HOGE | A GE | oBER | B OF | B OB | hrxa i U it B
AT YN 3.25 0. 00 0. 00 0.75 100. 0 0.0 0.0 100. 0|7 2 7 7 )L | Efide
23.7 1 ~ 23.8 1 3.25 0. 00 0.75
AT YN 3.25 0. 00 0. 00 0.75 72.0 0.0 5.0 7.0 7 A7 7 L NS s
23.8 1 ~ 23.8 78 3.25 0. 00 0.75
XA VNG 3.25 0. 00 0. 00 0.75 119.7 0.0 3.3 123.0{= > 7 U — Baid |nirrs
23.8 78 ~ 23.9 84 3.25 0. 00 0.75
(X4 VNG 3.25 0. 00 0. 00 0.75 193.0 0.0 0.0 193.0|= > 27 U — bk
23.9 84 ~ 24.2 36 3.25 0. 00 0.75
VB RZ A 3.25 0. 00 0. 00 0.75 156. 7 0.0 5.3 162. 0|7 A 7 7 /v ML ryits
24. 2 36 ~ 24.4 46 3.25 0. 00 0.75
(XA E VNI 3.25 0. 00 0. 00 0.75 2.0 0.0 0.0 2.0{= 27 VU — Mz
24.4 46 ~ 24.4 48 3.25 0. 00 0.75
(U4 E VNI 3.25 0. 00 0. 00 0.75 107. 0 0.0 0.0 107.0|7 27 7 )L bl
24.4 48 ~ 24.6 3 3.25 0. 00 0.75
X AT 2N 3.25 0. 00 0. 00 0.75 200. 0 0.0 0.0 200. 0|7 A 7 7 /L kA
24.6 3 ~ 24.7 88 3.25 0. 00 1. 00
AT YN 3.25 0. 00 0. 00 1.50 100. 0 0.0 0.0 100. 0| 7 2 7 7 /v bk
24.7 88 ~ 24.8 79 3.25 1. 00 1.25
AT YN 3.25 0. 00 0. 00 1.00 170. 0 0.0 0.0 170. 0|7 2 7 7 )L | Efide
24.8 79 ~ 25. 1 8 3.25 2. 00 0.75
AT YN 3.25 2. 50 0. 00 1.00 42.0 0.0 0.0 42.0(7 2 7 7 v NadE
25. 1 8 ~ 25. 1 50 3.25 1.25 0.75
XA E VNG 3.25 2.50 0. 00 1. 00 78.0 0.0 0.0 78.0|= 7 U — bk
25. 1 50 ~ 25.1 128 3.25 1.25 0.75
(=45 VNG 3.25 0. 00 0. 00 1. 00 43.0 0.0 0.0 43.0|= > 7 U — bk
25.1 128 ~ 25.2 40 3.25 1.25 0.25
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AT YN 3.25 0. 00 0. 00 1.00 37.0 0.0 0.0 37.0| 7 2 7 7 /b sk
25.2 40 ~ 25.2 77 3.25 1.25 0.25

AT YN 3.25 0. 00 0. 00 3. 00 100. 0 0.0 0.0 100. 0| 7 2 7 7 /v &k
25.2 77 ~ 25.3 70 3.25 1. 00 0.25

AT YN 3.25 0. 00 0. 00 1.00 110.0 0.0 0.0 110. 0| 7 2 7 7 /b ik
25.3 70 ~ 25.4 87 3.25 1. 60 0.25

(X4 VNG 3.25 0. 00 0. 00 0.75 100. 0 0.0 0.0 100. 0|7 A7 7 )L bl
25.4 87 ~ 25.5 86 3.25 1. 10 0.25

VB RZ A 3.25 0. 00 0. 00 0. 50 100. 0 0.0 0.0 100. 0| 7 A2 7 7 /b &k
25.5 86 ~ 25.6 72 3.25 1. 50 0.25

(XA E VNI 3.25 0. 00 0. 00 0. 50 100. 0 0.0 0.0 100. 0| 7 2 7 7 /L &k
25.6 72 ~ 25.7 64 3.25 1. 50 0.25

(U4 E VNI 3.25 1. 00 0. 00 0.25 55.0 0.0 0.0 55.0(7 27 7 /L bk
25.7 64 ~ 25.8 40 3.25 0. 00 1.25

X AT 2N 3.25 1.00 0. 00 0.25 45.0 0.0 0.0 45.0|=2 > 7 U — MEfEE
25.8 40 ~ 25.8 85 3.25 0. 00 1.25

AT YN 3.25 1.50 0. 00 0.25 100. 0 0.0 0.0 100. 0| = > 7 U — e
25.8 85 ~ 25.9 64 3.25 0. 00 1.25

AT YN 3.25 2. 00 0. 00 0. 50 100. 0 0.0 0.0 100. 0| =7 U — b EfdE
25.9 64 ~ 26.0 57 3.25 0. 00 1.25

AT YN 3.25 2. 00 0. 00 0. 50 100. 0 0.0 0.0 100. 0| = > 27 U — bt
26.0 57 ~ 26. 1 55 3.25 0. 00 1.25

XA VNG 3.25 2.00 0. 00 0. 50 100. 0 0.0 0.0 100. 0| =27 U — bt
26. 1 55 ~ 26. 2 54 3.25 0. 00 1.25

(X4 VNG 3.25 2. 00 0. 00 0.25 60. 0 0.0 0.0 60.0| =7 U — bk
26. 2 54 ~ 26.3 13 3.25 0. 00 0.75
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26.3 13 ~ 26.3 63 3.25 0. 00 0.75

Ve B Nk T 3.25 2. 00 0. 00 0.25 35.0 0.0 0.0 35.0| 7 2 7 7 /L sk
26.3 63 ~ 26.3 98 3.25 0. 00 1.25

Ve IR N 3.25 2. 00 0. 00 0.25 1.0 0.0 0.0 LO|7 A7 7 /b bk
26. 3 98 ~ 26. 3 99 3.25 2. 00 1. 00

Ve W/ Nk T 3.25 2. 00 0. 00 0.25 12.0 0.0 0.0 12.0|= > 7 U — FEfidE
26. 3 99 ~ 26. 4 11 3.25 2. 00 1. 00

Ve /N 3.25 2. 00 0. 00 0.25 100. 0 0.0 0.0 100. 0| 7 A2 7 7 /b &k
26. 4 11 ~ 26.5 11 3.25 2. 00 1. 00

P8 W NI 3.25 2. 00 0. 00 0.25 87.0 0.0 0.0 87.0|= > 7 U — MEfi%
26.5 11 ~ 26.5 99 3.25 2. 00 1. 00

P W N T 3.25 2. 00 0. 00 0.25 77.5 0.0 22.5 100. 0| =2 > 7 U — M2 | Ak s
26.5 99 ~ 26.6 102 3.25 1. 50 0.25

Ve B Nk 3.25 0. 00 0. 00 1.75 60. 0 0.0 0.0 60. 0|7 A7 7 )L e
26.6 102 ~ 26.8 64 3.25 2. 50 0.25

Vs W INR T 3.25 0. 00 0. 00 1.25 100. 0 0.0 0.0 100. 0|7 A7 7 )b | &tk
26.8 64 ~ 26.9 64 3.25 2. 00 0.25

Ve B Nk T 3.25 0. 00 0. 00 1.25 100. 0 0.0 0.0 100. 0|7 2 7 7 )L | Efide
26.9 64 ~ 27.0 83 3.25 2. 00 0.25

Ve B Nk T 3.25 0. 00 0. 00 1. 00 100. 0 0.0 0.0 100. 0|7 2 7 7 )L it
27.0 83 ~ 27. 1 83 3.25 1. 50 0.25

Ve IR N 3.25 0. 00 0. 00 1. 50 100. 0 0.0 0.0 100. 0| 7 2 7 7 /b &k
27. 1 83 ~ 27.2 82 3.25 1. 50 0.25

Ve W/ Nk T 3.25 0. 00 0. 00 0.75 100. 0 0.0 0.0 100. 0| 7 =2 7 7 /L ik
27.2 82 ~ 27.2 182 3.25 1.75 0.25
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27.7 93 ~ 27.9 64 3.25 0. 00 1.25
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29. 6 56 ~ 29. 7 86 3.25 3. 00 1.25
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Ve B Nk T 3.25 1. 50 0. 00 0.25 100. 0 0.0 0.0 100. 0|7 2 7 7 )L | Efide
30. 3 63 ~ 30.4 61 3.25 1. 50 0.25

Ve B Nk T 3.25 1. 50 0. 00 0.25 100. 0 0.0 0.0 100. 0|7 2 7 7 )L it
30.4 61 ~ 30.5 75 3.25 1. 50 0.25

Ve IR N 3.25 2. 00 0. 00 0.25 100. 0 0.0 0.0 100. 0| 7 2 7 7 /b Rk
30.5 75 ~ 30. 6 60 3.25 1. 50 0.25

Ve W/ Nk T 3.25 2. 00 0. 00 0.25 100. 0 0.0 0.0 100. 0| 7 =2 7 7 /b sk
30. 6 60 ~ 30. 7 60 3.25 1. 50 0.25

Ve /N 3.25 1.50 0. 00 0.25 100. 0 0.0 0.0 100. 0| 7 A2 7 7 /b &k
30. 7 60 ~ 30. 8 61 3.25 0. 00 1. 50

VeB BNl 3.25 2. 00 0. 00 0.25 100. 0 0.0 0.0 100. 0|7 2 7 7 )L b Eifidk
30.8 61 ~ 30.8 161 3.25 0. 00 1.25

Ve B Nk 3.25 1. 60 0. 00 0.25 98. 0 0.0 2.0 100. 0|7 A7 7 /L ~Efidk |4
30.8 161 ~ 31.0 76 3.25 0. 00 1.25

Ve B Nk 3.25 2. 50 0. 00 0.25 100. 0 0.0 0.0 100. 0| 7 2 7 7 /v b &lidk
31.0 76 ~ 31.1 81 3.25 0. 00 0.15

Vs L INgR T 3.25 2.00 0. 00 0.25 100. 0 0.0 0.0 100. 0|7 A7 7 )L b &tk
31.1 81 ~ 31.2 82 3.25 0. 00 0.75

Ve B Nk T 3.25 2. 00 0. 00 0.25 100. 0 0.0 0.0 100. 0|7 2 7 7 )L | Efide
31.2 82 ~ 31.3 78 3.25 0. 00 0.75

Ve B Nk T 3.25 2. 00 0. 00 0.25 100. 0 0.0 0.0 100. 0|7 2 7 7 )L it
31.3 78 ~ 31.4 77 3.25 0. 00 0.75

Ve R N 3.25 1.50 0. 00 0.25 100. 0 0.0 0.0 100. 0| 7 2 7 7 /b &k
31.4 77 ~ 31.5 77 3.25 0. 00 0.75

Ve B/ Nk T 3.25 1.00 0. 00 0.25 100. 0 0.0 0.0 100. 0| 7 2 7 7 /L ik
31.5 77 ~ 31.6 54 3.25 0. 00 0.75

23 /25 R—T




I

i

=

R
%

R
HARA 0203 HE
g = HE R
ES (BB B0, TBE: T YA m m ¥ 1 O FEAH fifi
HOGE | A GE | oBER | B OF | B OB | hrxa 1% U it

A= WIN ] 3.25 1. 00 0. 00 0.25 100. 0 0.0 0. 100. 0|7 2 7 7 L | édidE
31.6 54 ~ 31. 154 3.25 0. 00 0. 50

P 1B N 3.25 3.00 0. 00 0.50 100. 0 0.0 0. 100. 0|7 2 7 7 L [ e
31.6 154 ~ 31. 254 3.25 3. 00 0. 50

Ve IR N 3.25 1. 50 0. 00 0.50 97.5 0.0 2. 100. 0|7 2 7 7 )L MadSE | =g
31.6 254 ~ 31. 50 3.25 0. 00 0. 50

Ve R N 3.25 1. 50 0. 00 1. 65 51.0 0.0 0. 51.0[7 A7 7 /L bk
31.9 50 ~ 32. 28 3.25 0. 00 2.15

Ve /N 3.25 3.50 0. 00 0.50 42.0 0.0 0. 42. 0|7 A 7 7 )L bk
32.0 28 ~ 32. 70 3.25 0. 00 2.15

P8 W/ N T 3.25 3.50 0. 00 0.75 100. 0 0.0 0. 100. 0|7 A7 7 )L | Atk
32.0 70 ~ 32. 70 3.25 0. 00 2.75

=Wt 3.25 3.50 0. 00 0.75 203. 0 0.0 0. 203. 0|7 2 7 7 /b ik
32. 1 70 ~ 32. 73 3.25 0. 00 1.35

Ve B Nk 3.25 0. 00 0. 00 0. 50 4.0 0.0 0. 4.0| 7 A7 7 v M
32.3 73 ~ 32. 77 3.25 0. 00 0. 50

Vs W INR T 3.25 0. 00 0. 00 0.50 100. 0 0.0 0. 100. 0|7 A7 7 )b | &tk
32.3 77 ~ 32. 75 3.25 0. 00 0. 50

A=W ] 3.25 0. 00 0. 00 0.50 100. 0 0.0 0. 100. 0|7 2 7 7 L | édidE
32. 4 75 ~ 32. 176 3.25 0. 00 0. 50

P 1B N 3.25 0. 00 0. 00 1. 00 90. 8 0.0 9. 100. 0| 7 2 7 7 v Na#%E | his
32.4 176 ~ 32. 74 3.25 0. 00 0.75

Ve IR N 3.25 0. 00 0. 00 0.75 100. 0 0.0 0. 100. 0| 7 2 7 7 /b Rk
32.6 74 ~ 32. 71 3.25 0. 00 0.75

P R N 3.25 0. 00 0. 00 0.50 100. 0 0.0 0. 100. 0|7 A7 7 )L bl
32.7 71 ~ 32. 171 3.25 0. 00 0. 50
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Ve B Nk T 3.25 0. 00 0. 00 1.25 100. 0 0.0 0.0 100. 0|7 2 7 7 )L | Efide
32.7 171 ~ 32.9 65 3.25 0. 00 1. 00
Ve B Nk T 3.25 0. 00 0. 00 0.75 97.3 0.0 2.7 100. 0|7 2 7 7 )L MElE o mis
32.9 65 ~ 33.0 72 3.25 0. 00 0.75
Ve IR N 3.25 0. 00 0. 00 0. 50 100. 0 0.0 0.0 100. 0| 7 2 7 7 /b Rk
33.0 72 ~ 33.1 72 3.25 0. 00 0. 50
Ve W/ Nk T 3.25 0. 00 0. 00 0.25 100. 0 0.0 0.0 100. 0| 7 =2 7 7 /b sk
33.1 72 ~ 33.2 71 3.25 0. 00 0. 50
Ve /N 3.25 0. 00 0. 00 0. 50 100. 0 0.0 0.0 100. 0| 7 A2 7 7 /b &k
33.2 71 ~ 33.3 72 3.25 0. 00 0. 50
P8 W/ N T 3.25 0. 00 0. 00 1.00 96. 0 0.0 4.0 100. 0|7 A7 7 )b b &% |wisis
33.3 72 ~ 33.3 172 3.25 0. 00 1. 00
Ve BNk 3.25 0. 00 0. 00 1. 00 100. 0 0.0 0.0 100. 0|7 2 7 7 )L bl
33.3 172 ~ 33.5 72 3.25 0. 00 1. 00
Ve B Nk 3.25 0. 00 0. 00 0.75 100. 0 0.0 0.0 100. 0| 7 2 7 7 )L b &lidk
33.5 72 ~ 33.5 173 3.25 0. 00 1. 00
Vs L INgR T 3.25 0. 00 0. 00 0.75 100. 0 0.0 0.0 100. 0|7 A7 7 )L | &tk
33.5 173 ~ 33.7 74 3.25 0. 00 1. 00
Ve B Nk T 3.25 0. 00 0. 00 0. 50 100. 0 0.0 0.0 100. 0|7 2 7 7 )L | Efide
33.7 74 ~ 33.8 73 3.25 0. 00 0. 50
Ve B Nk T 3.25 0. 00 0. 00 0.25 100. 0 0.0 0.0 100. 0|7 2 7 7 )L it
33.8 73 ~ 33.9 70 3.25 0. 00 0.25
Ve IR N 3.25 2. 00 0. 00 0.25 116.5 0.0 8.5 125. 0|7 2 7 7 )L MadSE e tis
33.9 70 ~ 34.0 94 3.25 2. 00 1. 00
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